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Section 4.3.6: Errata

• Exercise 4.19: Exercise 1.38 instead of Exercise 3.1.

• Exercise 4.20: Exercise 1.39 instead of Exercise 3.2.

• Exercise 4.21: Exercise 1.40 instead of Exercise 3.3.

• Exercise 4.22: Exercise 1.41 instead of Exercise 3.4.

• Exercise 4.23: Exercise 1.42 instead of Exercise 3.5.

• Exercise 4.24: Exercise 1.43 instead of Exercise 3.6.

• Exercise 4.25: Exercise 1.44 instead of Exercise 3.7.

• Exercise 4.26: Exercise 1.45 instead of Exercise 3.8.

• Exercise 4.27: Exercise 1.46 instead of Exercise 3.9.

• Exercise 4.28: Exercise 1.47 instead of Exercise 3.10.
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Section 4.3.6

Exercise 4.12:

1. 
 0

0
0

 .

2. x1 ·

 0
−3
2

+ x2 ·

 0
−1
1

+ x3

 3
−2
3

 |x1, X2, x3 ∈ R

 .

3. {
x1 ·

[
0 0 3

]
+ x2 ·

[
−3 −1 −2

]
+ x3 ·

[
2 1 3

]
|x1, X2, x3 ∈ R

}
.

Exercise 4.14:

1.
{x1

[
0 1 0 0

]
|x1 ∈ R}.

2. x1 ·

 −2
3
2

+ x2 ·

 0
1
−2

+ x3

 0
1
−1

 |x1, X2, x3 ∈ R

 .

3. {
x1 ·

[
−2 0 0 0

]
+ x2 ·

[
3 0 1 1

]
+ x3 ·

[
2 0 −2 −1

]
|x1, X2, x3 ∈ R

}
.

Exercise 4.20: The null space is{[
0
0

]}
.

The solution is x1 = 0, x2 = −1/2.
Exercise 4.22: The null space is

 0
0
0

 .

The solution is x1 = −2.697479, x2 = 7.815126, x3 = −4.436975.
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Section 4.4.6

Exercise 4.30:

1. 
 0

0
0

 .

2. 
 1

0
−1

 ,

 0
−2
−1

 ,

 3
2
−2

 .

3. {[
1 0 3

]
,
[
0 −2 2

]
,
[
−1 −1 −2

]}
.

4. 3

5. 0

Exercise 4.32:

1. 


0.1612810
0.6451240
0.3763223
0.6451240


 .

2. 
 −3

−1
−3

 ,

 −0
1
−3

 ,

 1
−1
1

 .
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3. {[
−3 0 3 −1

]
,
[
−1 1 −3 1

]
,
[
−3 −3 3 2

]}
.

4. 3

5. 1

Exercise 4.36:

1. {[
0
0

]}
.

2. {[
1
−1

]
,

[
3
−1

]}
.

3. {[
1 −6

]
,
[
−1 2

]}
.

4. 2

5. 0

Exercise 4.38:

1. 
 0

0
0

 .

2. 
 5

7
−1

 ,

 5
−2
3

 ,

 −1
−4
4

 .

3. {[
−5 5 −1

]
,
[
7 2 4

]
,
[
1 3 4

]}
.

4. 3

5. 0
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